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1. (1 pt.) The emergency number for public safety is: (partial credit if you pick the non-emergency number)
a. 414-277-7119
b. 414-277-7129
c. 414-277-7139
d. 414-277-7149
e. 414-277-7159
f. 414-277-7169
g. 414-277-7179
h. 414-277-7189
i. 414-277-7199
2. (1 pt.) In a fire, you should exit the building and then proceed directly to
a. The Broadway Lot
b. The lot behind the Science Building
c. The Milwaukee B Lot
d. The lot behind the Library
3. (1 pt.) To find a fire extinguisher, exit the classroom and turn
a. Left
b. Right
c. Either
d. Neither
4. (2 pt.) List two ways you could (possibly accidentally) cheat in the class




5. (2 pt.) During what times am I available for appointments?  (You don’t have to have them memorized, just tell me how you would figure it out.)



6. (2 pt.) Select all that apply.  A lab assignment will receive no credit if it …
a. Is copied from another student, even in part
b. Is unacceptably disorganized
c. Does not compile
d. Does not follow submission guidelines
e. Crashes before displaying functionality
7. (1 pt.) I will drop the lowest ___ quiz scores
a. 0
b. 1
c. 2
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SE1011 In - Class Exercise   1.   Will the code compile?  If so, write  “yes.”  If not, fix it.   a.   long l = 1000000000 000000 ;   b.   int x = 10.0;   c.   float f = 11.5;   d.   long l = 10L;   e.   long l = 10;   f.   String s = ‘S’;   g.   double d = 5.0;   h.   char c = ‘C’;     2.   What do the following expressions  produce?   a.   5.0/2.0   b.   5.0/2   c.   5/2   d.   5.0+7.0/2.0   e.   1.0+5/2   f.   11+3.0   g.   (double)5/2   h.   8.0 - 4.0+3   i.   (int)5.0/2.0+3   3.   What do the following expressions  produce?   a.   4%2   b.   5%2+1   c.   7%3   d.   63%10   e.   (1345%100)%10   f.   25/( (7 - 4)*2 )
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2. Will the code compile?  If so, write “yes.”  If not, fix it.

a. long l = 1000000000000000;

b. int x = 10.0;

c. float f = 11.5;

d. long l = 10L;

e. long l = 10;

f. String s = ‘S’;

g. double d = 5.0;

h. char c = ‘C’;



3. What do the following expressions produce?

a. 5.0/2.0

b. 5.0/2

c. 5/2

d. 5.0+7.0/2.0

e. 1.0+5/2

f. 11+3.0

g. (double)5/2

h. 8.0-4.0+3

i. (int)5.0/2.0+3

4. 
What do the following expressions produce?

a. 4%2

b. 5%2+1

c. 7%3

d. 63%10

e. (1345%100)%10

f. [bookmark: _GoBack]25/((7-4)*2)




